JEE 2023 Session-1 24th Jan to 1st Feb 2023

iApplication No [rereEr
Candidate Name l

Roll No

[Test Date cotviizuco

Test Time 3.00 PM - 6:00 PM
Subject B TECH

@1 i + i . i z
At 300 K, the tms speed of oxygen molecules is |2 times to that of its average Ktiastion Ty SMCO
i w Queston |D - 366694273
speed in the gas . Then, the value of o will be Cption 11D . 366634845
& Option 2 10 - 366644845
22 Crption 3 |D - 366604843
(used m=—) Option 41D . 356694344
7 Stals © Answered
Options 1 24 Chosen Option - 2
227
332
428
@2 The time taken by an object to slide down 45° rough mclined plane is n times as it takes Qusstion Typs - MCQ
to slide down a perfectly smooth 45° incline plane. The coefficient of kinetic friction Cuestion |0 - 366604273
between the object and {he incline plane is: Cption 11D : 366604820
Options 1 Cption 2 1D - 3666548153
g f=nss option 310 - 366694821
Cpfien 4 1D : 366684822
1 Status © Answered
21+ = Chesen Option - 3
3 oL
n?
i 1
1—n?
@3 The ratio of de-Broglie wavelength of an o partiele and a praton accelerated from Question Type . MCQ
<o 1 " Ouestion |0 - 366604287
rest by the same potential is :{; the valuc of m is- Option 1 10 - 366604276
Options 1 8 Crption 2 10 - 366694877
5§ Option 3 10~ 366694875
& ption 4 |0 - 366604378
32 Status Not Attempted and Marked For
414 ~ " Raview
Chosen Opfion - —
Q4 A point charge 2 » 1077 C is moved from P to § in a uniform electric field of 30 NC™! Question Type . MCQ
directed along positive x-axis. If coordinates of Pand Sarc (1, 2.0 }m and Quisstion Il 36089420
(0. 0. D) m respectively, the work done by electric field will be Opan L I)- Soah e

Option 2 10 . 366694845

Options 1 —600 mJ Option 310 366624850

2 —1200 mJ Cption 41D - 356604242
3 1200mT Status : Answered
4 600 mt Chosen Option 3
@5 A square loop of area 25 em? has g resistance of 10 Q2. The loop iz placed in Quastion Typa : MCQ
uniform magnetic field of magnitude 40.0 T. The plane of loop is perpendicular to st U 2 aohnda s
the magnetic field. The work done in pulling the loop out of the magnetic field g;:z: ; :g'_ g:zmg
. clowly and uniformly in 1.0 see, will be Option 3 10 - 366604855
Options 4 1.0 = 10—3 T Cption 4 |D - 366694857
2 3 Siatus - Answered
SRt Chosen Option: 3
32521077
4101071
8 A fully loaded boeing aireraft has a mass of 5.4 = 107 ke, Ts total wing area is Questien Type . MCQ
500 m™. Tt is in level flight with a speed of 1080 km'h_ Tf the density of air p is {:C‘)L;ii:]: :g'_ ;:::ﬁ;;
1.2kgz m 7, the fractional increase in the speed of the air on the upper surface of Opion 2 1D 366694837
the wing relative to the lower surface in percentage will be. (g = 10 m/s?) Ontion 3 10-* 366694835
Options 1 16 Option 41D : 366604236
Status - Answered
£8 Chesen Option . 2
38
410
97 Heat energy of 184 kT is given 1o ice of mass 600 ¢ ar —12°C. Specific heat of ice is Qusslion Type - MCQ
22223 Tk 1°C 1 and latent heat of ice in 336 kT/kg ™! Duestion =36 21%

Option 110 : 366694842
Cption 2 |0 - I66694830
Option 310" 366654840
: : Option 410 - 366604841
B. Final temperature of the system will be greater than 0°C . St - Arsred

Chosen Cption . 3

A Final temperarure of system will be 0°C.

C. The final system will have a mixture of ice and water in the ratio of 5:1.

D. The final system will have a mixture of ice and water in the ratio of 1:5.

E. The final system will have water only. gcol leged un i as
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Options

Qg

Options

Qs

Options

a1

Options

an

Options

Q.12

Options.

a3

Options

Choose the correct answer from the eptions given below
1 Aand E Only
2 Aand C Only
3 B and D Only
4 Aand D Only

Subszrance A has aromic mass number 16 and half life of 1 day. Another substance
B has atomic mass number 32 and half life of % day. Ifboth A and B
simultaneously start undergo radio activity at the same time with initial mass 320
g cach, how many total atoms of A and B combined would be left after 2 days.
1169 % 10

2 6.76 107

3 3.36 = 107

4.6.76 x 10%

Given below are two statements :

Statement I; Electromagnetic waves are not deflected by clectric and magnetic ficld.

Statement [[: The amplitude of clectric ficld and the magnetic ficld in

T

electromagnetic waves are related to each other as =\‘|"—°
N ‘)

By

In the light of the above statements, choose the correct answer from the options
given below :

1 Both Statement [ and Statement I1 are true

2 Statement 1 is falsc but statement 11 is truc

3 Statement | 15 true but statement II 1s false

4 Both Statement [ and Statement [1 are false

The electric current in a circular coil of four turns produce: a magnetic induetion
32 T at its centre, The coil is unwound and is rewound into a circular coil of single
turn. the magnetic induction at the centre of the coil by the same current will be -
14T

22T

ART

416T

For the given logic gates combination, the correct truth table will be

A
X
B
4|B|X
alo|1
ijaj1]o
1|00
11110
A|B|X
g|o|o
210111
1|01
11110
A|B|X
glol1
oLl o
110]1
1]11]0
A|B|X
glo|o
ala)1]1
1|10]1
% |2 |

The modulation index for an A M. wave having maximum and minimum peak-to-
peak voltages of 14 mV and 6 mV respectively is-

10.6

204

302

41.4

The time period of a satellite of carth is 24 hours.If the scparation between the
earth and the satellite is decreased to one fourth of the previous valus, then its new
time period will become.

1 4 hours

I SR

CQuastion Type - MCQ
Cuestion |D - 366624285
Option 1 10 - 366604881
Cption 2 10 - 366694870
Cption 31D - 366654880
Ciption 4 10 ° 366694852

Status © Answered

Chosen Option: 3

Cwiastion Typa : MCQ
Question |D - 366694285
Cption 11D . 366694867
Option 2 10 - 366694870
Cption 3 10 - 366694860
Cption 410 . 360694865

Status © Answered

Chesen Option :

Question Type :

Quesfion I0
Option 1 10
Optien 2 10
Option 3 IO
Cption 4 10

Status

Choser Opiion

-

Mca

360694283
366604862
366694360
60694558
366694567

HNot Attempted and Marked For

Review

Question Type : MCQ
Queston 1T - 366694289
Cption 11D : 366604385
Cption 2 1D : 356694804
Cption 3 1D . 366694885
Opfion 4 10 - 366644885

Status - Answered

Chosen Cplion - 4

Qestion Type

CQueasfion 1D
Gption 1 10
Cption 2 10
Option 3 10
Option 4 1D

Stetus
Chosen Option

Cuastion Ty

Moo

366604200
J6G694367
360694590
eE604880
366694388

Not Attempted and Marked For

Review

Question

Ciption 1

Ciption 2
Oiplion 3
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Options

Q.15

Options

Options

QT

Options

Options

Q.19

Options

Q.20

= O Nouws

Cption 41D -

312 hours Slalus
4 3 hours Chasan Option -
With the help of potentiometer ,we can determine the value of emf of a given cell . Quastion Typa
The sensitivity of the potentiometer is Question ID
Cption 110
(A) direetly proportional to the length of the potentiometer wire Option 21D -
Cption 31D
(B) directly proportional to the potential gradient of the wire Omlo:tal‘LD.
atus -

(C) inversely proportional to the potential gradient of the wire
(D) inversely proportional to the length of the potentiometer wire

Choose the correct option for the above statements:

1 Aand C only
2 B and D only
3 Conly
4 Aonly
For the given figures, choose the correct options: Cuastion Type -
Question |D -
160 50 i 04pF Cption 110 :
400) on— T — | Optien 2 10
Oiption 3102
Cption 410

s Stats -
\”) 225 Chosen Option

)

0V 0
(a) )
1 At resonance, cutrent in (b)) is less than that in (a)

120 ¥, 50 He

2 The rms current in eircuit (b) can be larger than that in (a)
2 The rms current in fizure{a) 15 always equal to that in fizure (b)
4 The rms current in circuit (b) can never be larger than that in (a)

The equation of a circle 15 given by ot _\‘q = o, where a 1s the radius. If the Question Type :
equation iz modified to change the origin other than (0, 0) , then find out the Question ID -
1 Optien 110°
corrsct dimenzions of A and B in a new equation : (x—41)? +[y— 1'?] =a? . The Option 2 10 -
Cption 3 10

dimensions of t is given as [T 7] Oplion 410
Status :
1A= [L_IT _l] .B=[LT] Chasen Option

2 A=[L7'T].B=[LT Y
= [IAT B =117
4 A=[LT],B=[L7IT Y

A scientist is obzerving a bacteria through a compound mieroscope. For better Cusstion Type

analysis and to improve its resolving power he should. (Sclect the best option) Question |0 -
1 Increase the wave length of the light g::z: ; :g:
2 Decrease the diameter of the objective lens Option 310 .
2 Decrease the focal length of the eye piece. Drﬁlogt;l::

4 Increase the refractive index of the medium between the object and objective lens

A force acts for 20 s on a body of mass 20 kg, starting from rest, after which the Question Type

force ceases and then body describes 50 m in the next 10 & The value of foree will be: Question |0 -

15N Cption 11D

2 "d N Cplion 2 1D .

e Oiption 3 10 -
340N Cption 4 1D

410N Status -

Chosen Option

Identify the corrcct statements from the following: Cusstion Typs -
Question |10

A, Work done by a man in lifting a bucket out of a well by means of a rope ticd to Option 110:
the bucket 15 negative. Cption 210 -
Cption 21D 2

B. Work done by gravitational force in lifting a bucket out of a well by a rope tied Optian 41D ;

to the bucket is negative
C. Work done by friction on a body sliding down an inelined plane iz positive.

D. Work done by an applied force on a body moving on a rongh horizontal plane
with uniform velocity in zero.

E. Work donc by the air resistance on an oscillating pendulum in negative.

Choosc the correct answer from the options given below:
1 Aand C Only

2 B.Dand E only

2 B and E only

4 B and D only

An object moves at a constant speed along a circular path in a horizontal planc Qusstion Ty

with center at the origin, When the object is at x = +2 m, its velocity is _4] m/s - Queston
Option 1

The ahiect’s velncity (171 and accelaration (a1 at v = =7 m will he

Chesen Option -

Chosen Option ©

Stams -
Chesen Option -

366624833

- Answered

3

MCQ

- 06694281

366694804
3666084853
J66694852
366694851
Answered

-

MCo

366604284
366654865
66624863
366604865
366654064

Marked For Review

3

MCQ

J06694271
66624812
366604814
366654813

- 366684811

Answered
4

- MCQ

3066694260

© 366694872

366694871
J66G54873
366694874
Answared

-

- MCQ

366604274
366694823
00694825
3HG6Y4R26

- 366604824

Answered
4

MCQ
366654275
Joheadaar
366604830
366604220
366694820
Answered
3
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ASTSETENY WSS AT ITEATIEIATRANTE SRR Lption 2 113 ° 6664481
- ; . 5 Ciption 3 1D - 356604812
Tv=—djm/s,a=8im/s ;zion-f-l[)'li&ﬁﬁmﬁ
2y=4im/s,a=8 jm/s’ SOl e
osen on ©

Options

Ip=—dg im!s, a=-8 ] m/s*
4y=4im/s, a=8im/s

Sedlion - Physics Section B

an [n an experiment of measuring the refractive index of a glass slab using travelling Cusstion Typs - SA
microscope in physies lab, a student measures real thickness of the glasgs slab as Question |0 - 365604202
5.25 mm and apparent thickness of the glass slab as 5.00 mm. Travelling Status - Answered

microscope has 20 divisions in one cm on mam scale and 50 divisions on vernter
scale is equal to 49 divisions on main scale. The estimated uncertainty in the
measurement of refractive index of the slab is ﬁ:‘ w7 where ¥ is

Given Answes T2

Q.22 A car is moving on a circular path of radius 600 m such that the magnitudes of the Question Typa © SA
tangential acccleration and centripetal acceleration arc equal. The time taken by Quesiion 0 306694300
the car to complete first quarter of revolution , if it ie moving with an initial speed Status got Attempied and Marked For
. . EYIEW
of 54 km'hris ¢1- ¢ *'?)s. The value of tis
Given Answer
Q.23 Unpolarizsed light is incident on the boundary between two dielectric media. Question Type : SA
whose diclectric constants arc 2.8 (medium —1) and 6.8 (medium —2). Quesiion 10 360694293
respectively. To satisfy the condition, so that the reflected and refracted rays are Status - ;N Iﬂﬂemnm and Marked For
eview
1
] -y Sy, 10Y2
perpendicular to each other, the angle of incidence should be tan [ 1—;] the
valuc of B 15
(Given for dielectric media, u,=1)
Given Answer ;-
24 A mull point is found at 200 cm in potentiometer when cell in secondary circuit is Duestion Type * SA
shunted by 501, When a resistance of 150) is used for shunting, ol point moves to Quastion |0 - 366604205
300 cm. The internal rezistance of the call is 0. Status gﬂfﬁﬂempm and Marked Far
—_— QViow
Given Answer : --
Q.25 An inductor of inductance 2 pH is connected in series with a resistance, a variable Question TYpe . SA
capacitor and an AC source of frequency 7 kHz. The value of capacitance for Question [~ 366604294
o 2 = = " R 2 HNot At ted and Marked F
Wil S e e et e . where the value of x is Status - R:ﬁwsmp = LT
X
n
Take ==
(Take 7=2)
Given Angwer -
Qe A particle of mass 100 g is projected at time t = 0 with a speed 20 ms™! at an angle Questinn Type = SA
45° to the horizantal as given in the figure. The magnitude of the angular s 3
PR T . < = X i Statug - Not_Mternpted and Marked For
momentum of the particle about the starting point at time t = 25 1s found to be Review
3 .
JK kgm~/s The value of K is
(Take g=10ms™)
y
GIVEn Answer —
Q.27 A particle of mass 250 g executes a simple harmonic motion under a perindic Quastion Typz - SA
foree F = (—25 x) N. The particle attains a maximum speed of 4 m/'z during itz Queston |D . 3660694297
oscillation, The amplitude of the motion is cm. At Ansivered
Given Answer : 40
02 For a charged spherical ball. electrostatic potential inside the ball varies with » as QUESHIDN TYDE * SA
V=2ar%+b. Quastion I - 366604296
Here. a and b are constant and r 1s the distance from the center. The volume charge Etaius - HOUAEiDtEd 8 Morked For
density inside the ballis —)gg . The value of & is
E = permittivity of the medium
Given Angwer - -
Q.29 When two resistances Rjand B conneeted in series and introduced into the left gap GiiestiviTyDe : SA
of a meter bridge and a resistance of 10 £ 15 introduced into the right gap. a null Question IC - 366694291
point iz found at 60 cm from left side . When R and R, are connected in paralle] Siatus - ot Attomplad dnd Matkod For
and introduced into the left gap, a resistance of 3 £ iz introduced into the right-gap
to get aull point at 40 cm from left end. The product of R R5 18 o?
Given Angwer .
2N A metal block of basc arca 0.20 m” is placed on a table, as shown in figure. A Question Type . =
Ilqur.d film oﬁh.lclmess D 25 mim is meetted bet\vem the block and the table. The eleithe: COI Ieged unitas
. 1
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DIOCK 18 PUENEd DY 2 NOHZoNtal 1oree 01 U.1 N 4nd moves With a constant speed. i1
the vizcosity of the liquid iz 5.0 107 PL the apeed of block iz
*107 mis.

01N
— fitm

Tuble

Given Angwer:
WF‘ : Chemistry Section A
Q3 Anindicator ‘X is used for studying the effect of variation in coneentration of

iodide on the rate of reaction of iodide ton with H,05 at room temp. The
indicator *X” forms blue colored complex with compound *A° present in the
solution. The indicator ‘X’ and compound “A’ respectively are

1 Starch and iodine

2 Starch and H,0,

3 Methyl orange and iodine

4 Methyl orange and H,O,

Option:

@

Q.32 Match List I and List 11

List1 List IT

L. Sclvent molecules pass through semi permeable
membrans towards solvent side.

. Movement of charged colloidal particles under the
IB_Eeverse osmosis  |influence of apphied eleciric porential toweards
loppositely chargad electrodes |

I[1. Solvent molecules pass through semu permeable
imembrans towards soluion side

ID. Electrophoresis IV, Dispersion medium moves m an clectric ficld.

1A Osmosis

C_ Electro osmosis

Choose the carrect answer from the options given below :
options 1 A-III, B-I, C-IL D-IV

2 AL B-IIL C-IL, D-IV

3 A.I B-IIL C-IV, D-II

4 AJIL B-I C-IV, D-II

@33 The concentration of diszolved Oxygen in water for growth of fish should be more
than X ppm and Biochemical Oxygen Demand in clean water should be less than ¥
ppm. X and Y in ppm are. respectively.

Optionsqx Y
6 5
27 5
3 3
‘% 12

G.34  Find out the major product for the following reaction.

CH,4

Options
(L

H50" .
——— Major Product

0.35  The major component of which of the following ore 13 sulphide based mineral?
Options 1 Malachite
2 Calamine
3 Sphalerite

4 RBiderite

Q.36 Given below are two statements :

Statement I : The decrease in first ionization enthalpy from B to Al is much larger
than that from Al to Ga.

Statement II : The d orbitals in Ga arc completely filled.

Stats - peview

Question Type -
Question |D .
Option 110~
Cplion 2102
Option 31D .
Option 410

- Answered

Chosen Option ©

Status

Question Type .
Question D
Cption 11D
Cption 21D 2
Oiption 3 10
Cption 41D 2

Status -

Chosen Option

CGuestion Type .
Queston 1D
Cption 11D
Cption 2 1D .
‘Cption 310
Ciption 41D -
- Answered
Chosen Option .

Status

Question Type -
Ouestion 1D
Cption 11D :
Cption 2 102
Cptlon 310
Ciption 4 102

Status -

Chesen Option

MCQ

J66624320
3666U4GR0
366604078
66694977
366684979

2

MCQ
366604304
366694913
3066654915
366694916
366604014
Answered
4

MCQ

366604311
366604041
J00694944
66654942
366604043

2

MCQ
366694312
366694047
66654245
I66654945
366604048
Answered
3

Question Type . MCQ
Question |0 - 366604306
Cption 1 10 - 366694921
Cption 2 10 - 360694322
Option 3 10 - 366604924
Oplion 4 10 © 366604023

Status -

_ Not Attempted and Marked Far

Review

Chosen Opfion . —

Question Type =
Question D :
Crption 11D

Tplion 2
Option 3
Ciption 4
Stal

Chosen oot

MCQ
366604305
366654920

USRS
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In the light of the above statements, choose the most appropriate answer from the

options given below

Options 1 Statement 1 is incorrect but statement 11 is correct
2 Both the statements | and Il are incorrect
3 Both the statements [ and Il are correct

4 Statement T is correct but statement I1 is incorrect

A W solution of C;0s in amyl aleohol has a colour.
OPHONS 1 Yellow
2 Green
3. Blue
4 Orange-Red

Q.38 Which of the following relations are correct 7
(A) AU=q+pAV

(B) AG=AH —TAS

_QM
C) AS
(@ 7

(D) AH=AU— AnRT

Choose the most appropriate answer from the options given below :
Options 1 B and D Only

2 Cand D Only
3 B and C Oaly
4 Aand B Only
4 Correct order of spin only magnetic moment of the following complex ions 15:
(Given At.no. Fe: 26, Co:27)
Options

1 [Co(C,0,),]" >[CoF,I" > [FeF,]*
2 [FeF,I" > [Co(C,0,),T >[CoF,T-

[FeF,I* > [CoR,|* >[C(C,0,),]"
4 [CoRJ" > [FeF,|* >[Co(C,0,),]"

Q.40 Find out the major products from the following reaction sequence.

i
s _ MeMgBr
T e
ol ~ 1) Nal™ " {esieess)
o ‘ 1) ErOH, H 0" Hy0%
F -
T
Cl
Options P Me
O s, N,
A= L.O/' =< <_ T=Me
i oH
[RS8
e O
Sl o
T
e S T
oH o
; : -
B-tl— .3\—)—ch o
Me  Ale
m{ _oH
B=Cl —c’ \—\—c S
L Me
.wz s

Q.41 When a hydrocarbon A undergoes combustion in the presence of air. it requirs 9.5
equivalents of oxygen and produces 3 equivalents of water. What iz the molecular

formula of A ?
Options 1 CgHg

& CSHﬁ
3 06H5
¢ CgHy
047 Following tetrapeptide can be represented as
oot
CILPh o ”1 ﬁ
H }\ tou
H.N ]r ER T I’ z
ity Clla
|
CIN = ]
ST TN &

Cuastion Type °
Question 1D :
Cption 1102
Cption 21D .
Option 310
Coption 4 1D 2

- Answered

Chesen Option

Stalus

Giuestion Type

Cuestion [D -
Cption 110
Cplion 210 .
Ciption 310
Cption 41D -

Stalus .
4

Chaosen Cption

CQuestion Type :
Gueston 1D -
Ciption 11D
Cption 21D 2
Option 310
Ciption 4 |0

: Answered

Chesen Option -

Status

MCQ

366604308
366694932
366694930
366604020
366604031

4

MCQ
366684302
366694907
366694905
3666L4G06
366694905
Answered

MCQ

366694303
366604035
366654934
3066694933
366684936

3

Cuestion Type : MCQ
Quesfion 1D . 366694315
Option 110 ° 366694357
Option 2 ID - 366604060
Option 3 |0 - 366694959
Cplion 4 10 . 366694358

Status

Revizw

Chosen Opfion - —

Giiastion Type -
Question ID -
Cption 11D
Cption 210
Option 310:
Cplion 410 -
Stalus

Chasen option ©

MCQ

366604313
366694951
306694943
366644050
366694952

- Answered

-

Guestion Type  MCQ
CQuasfion I - 366604318
Cption 1 |0 - 566694972
Cotion 2 D . 360694970
Option 3 |0 - 366604971
Option 4 |0 : 366604060

Status
Chosen Opfion

Mot Attempted and Marked For
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Options

Q.43

Options

.4

Options

Options

Q.46

Options

Q.47

Options

.45

Options

Q.49

OH

(F,L.D. Y, I, Q, P are one letter cades for amino acids)
1 YQLF

2 FIQY

3 PLDY

4 FLDY

Reaction of propanamide with Br,/KOH (ag) produces :

1 Ethylnimile

2 Propylamine
3. Propanenitrile
4 Ethylarmine

Match List I with List IT

ListI List IT
A svan't Hoff factor. i L Cryoscopic constant
B. ke 1T Tsotonic solutions
C. Solutions with same fiiy, Mol mlarios

osmotic pressure Abnormal molar mass

IV, Selutions with same composition of
ID. Azeatropes vapour above it

Choose the correct answer from the options ziven below !
1 A-HIL B-L C-IV, D-IL
2 AL B-IL C-L D-IV
3 AJIL B-L C-IL D-IV
4 AL B-IIL C-IL, D-IV

A doctor preseribed the drug Equanil to a patient. The patient was likely to have

symptoms of which dizeaze?

1 Stomach ulcers

2 Hyperacidity

3 Anxiety and stress

4 Depression and hypertension

The onc giving maximum number of isomeric alkencs on dehydrohalogenation

reaction 15 {excluding rearrangement)
1 2-Bromopropane

2 1-Bromo-2-methylbutane

3 2-Bromopentane

4 2-Bromo-3,3-dimethylpentane

Match List T with List TT

List I List IT
A Elastomeric polymer I Urea formaldshyde rasin
B. Fibre Polymer II. Polystyrene
C_ Thermosetring Polvmer 11 Polvester
D). Thermoplastic Polymer TV Neoprene

Choose the carrect answer from the options given below
1 AV, B-L, C-III, D-II
2 AL B-I, C.IV, D-III
3 AL B-IIL C-L D-IV
4 ATV, B-IIL, C-I, D-II

Given below are two statements:

Statement I : Nickel is being used as the catalyst for producing syn gas and edible

fats,

Statement TT : Silicon forms both electron rich and electron deficient hydrides.

n the light of the above statements, choose the most appropriate answer from the

options given below :

1 Statement I is correct but statement I1 is incorrect
2 Statement [ 18 incorrect but statement 11 15 correet
3 Both the statements [ and IT are correct

4 Both the statements I and II are incorrect

The sct of correct statements is ;
(i} Manganese exhibits +7 oxidation state i its oxide.

(i1) Ruthenium and Osmium cxhibit +8 oxidation in their oxides.

Cwastion Typa ©
Question |D :
Cplion 110
Ciption 2102
Cption 31D:
Cption 410 .

Status -

Chesen Option -

Qusstion Type :
Gestion |D -
Ciption 110
Cption 210
Cption 31D -
Ciption 4 10 -

Status :

Chosen Option - 4

Cuestion Type

Question D -
Cption 11D
Cplion 210
Option 31D~
Cption 410 -
Stalus .

Chesen Option

MCQ
366654316
3066694904
366604061
366694963
3666949062
Answerad
4

MCQ
366624303
366624910
366694912
J66654909
366644911
Answerod

MCQ
366604310
366694976
366684974
366624975
366694073
Answered
a

Cestion Type : MCO
Quesfion ID - 366694314
Cpticn 1|0 . 3606694953
Oiption 2 10 - 366604954
Crption 3 |0 - 366604955
Cption 4 10 - 300694350

Slatus
Chozen Option © —

Cuastion Typa -
Question |D -

Cption 110

Cplion 21D 2
Cplion 31D
Cption 410 .
Status -

Chosen Option -

Question Type -
Qiestion (D
Cption 11D
Cption 210 2

Cption 31D

Ciption 4 102
. Answered

Status

Chosen Option

Cwaction Ty
Question
Cption 1
Oiption 2
Cplion 3

MCQ
J666842317
6694967
366604068
366694966
366694965
Answerad

-

MCQ

366624307
366604027
J66694928
366654925
366604025

2

Not Attempied and Marked For
Review

collegedunia:

India’s largest Student Review Platform



(ii1) S¢ shows +4 oxidation statc which is oxidizing in nature.

(iv) Cr shows oxidising naturc in +6 oxidation state,
Options 1. (31}, (11i) and {iv)

2 (3) and (iii)

3 (i) and (i)

& (i), (i) and (iv)

G50 According to MO theory the bond orders for 022__. CO and NO™ respectively, are

Options 1 1,
23

31,

a1,

3and2
3and 3
3and 3
2and 3

Section - Chemistry Section B

Q.51

Given Answer

.53

The volume of HCl, containing 73 g L), required to completely neutralise NaOH
abtained by reacting 0.69 g of metallic sodium with water, is ml. (Nezrest Treger)
(Given : molar Mazzes of Na, C1. O. H, are 23. 355 16and 1 g mof!

respectively)

2

When 0.01 mel of an organie compound containing 60% carbon was burnt
completely. 4.4 g of CO, was produced. The molar mass of compound

is g mol™! (Nearest integer).

Given Answer : -

Q.43

For conversion of compound A — B. the rate constant of the reaction was found
to be 4.6 % 10~ L mol™! 57\, The order of the reaction is

Given Angwer

Q.54

Given Angwer

.55

Given Answer .

Q.56

Given Angwer :

Q.57

Given Angwer
Q.58

Given Angwer

Q.59

On heating . LiNO; gives how many compounds among the following?

Li,0. N5, Oy, LINO,, NO,
2

A metal M forms hexagonal close-packed structure. The total number of voids
in 0.02 mol of it is «10%! (Nearest integer].

(Given Ny = 6,02 x 107)

Total number of acidic oxides among
N,03, NO,, N0, CLO;, SO,, CO, Ca0, Na,0 and NO is .

wa

At 208 K
N, (g)+3H, (g) = 2NH; (2), Ky =4 10°

N, (2)=0;(2) = 2NO (). K, =1.6x 1012
Hy(0)* 2 0:() = HO@)Ky=10%10%

Based on above equilibria, the equilibrium constant of the

reaction, 2NH; (g) + %Oz (g) == 2NO ()~ 3H,0 (o) is x107%

(Nearest integer).

The denticity of the lizand present in the Fehling’s reagent is ;

The equilibrium constant for the reaction

Zn(s) + S0 (aq) = Zn?" (ag) + Sn(s) is 1 = 1027 at 208 K. The magnitude of standard
8 1,

electrode potential of Sn/Sn?Tif By lza =—0.76 Vis x 1072V,
(Nearest integer).
. 2.303RT

Given =0.059V

Given Answer

Q60

Given Answes

Assume that the radius of the first Bohr orbit of hydrogen atom 15 0.6 A, The

radius of the third Bohr orbit of He™ is picometer. (Nearest Integer)

2

Section . Malhemafics Section A

Cption 41D . 366634935
Stats - Answered
Chosen Option - 3

Cwiastion Typa : MCQ
Question |D - 366694301
Cption 110 . 366694902
Ophion 2 10 366694904
Cption 3 1D - 366694903
Cption 41D . 360694901

Status - Answered

Chosen Option ©

-

Ouastion Typa - SA
Question |D - 366604325
Slalus - Answered

Question Type . SA
Queastion |0 - 366604330

_ Not Attempted and Marked For
lette S Raview

Question Type . SA
Question |0 - 366604324

_ Not Attempted and Marked Far
ol 2 Review

Qwastion Type - SA
Question |D . 366694323
Status - Answered

Question Type : SA
Cuestion |0 - 366694326

_ Not Attempted and Marked For
12w

Ststus Revi

Cwiastion Typa : SA
Question |D - 366654324
Slalus - Answered

Question Type : SA
Question |0 - 366684327

HNot Attempied and Marked For

Status - Review

Question Type © SA
Quasiion ID - 366604322

Not Attempted and Marked For
“ Reviaw

Stetus
Question Type | SA
Queslion |0 . 366694328

_ Not Attempted and Marked For

SIS - paview

Question Typs - SA
Queston 10 366694321

Stal
y
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Options
1

Q.62

Oprions

€163

Options

Q.04

Options

Options

.66

Options

Q.67

Options

Let = [y, won......] be the sample space associated to a random experiment. Let

Plw,) ”+" nz2. Let A={2k+3:k /el and B={%i:neA}. Then P(B) is

cqual to

o~ BleR|eBl-

The statement # = ((~ A) v B] is equivalent to ;
1 8=(4=8)

2 B=((~ A)= 8)

3d= (A< 8)

4 A= ((-A) = B)

The number of 3 digit numbers, that arc divisible by cither 3 or 4 but net divisible
by 48, is

1 472
2 432
3 507
4 400

Consider a function f: IN — IR, satisfying

FO+2(2)+3D+... +xflx) =x(x+1)f(x) x 22 with f(1)=1.

1 1
et J(@022) ' f(2028)

15 equal to
1 8100
2 200
2 8000

4 R400

Let K be the sum of the cocfficients of the odd powers of x in the expansion of

1+ x)gg_ Let a be the middle term in the expansion of ;1+%"K
a4 _2"rm
T e 0
equal to

1 (51,99)

2 (50,101)

3.(50.51)

4 (51,101)

The shortest distance between the lines

z-1_y-2 z-6

Foiy
'+l

— it ig
di1)

The value of the integral jl‘[
ttan2 - Liang e X

a 3
2tan”'2+4 ltnn'I gt

3 3

]

11 -|‘-]-Lan"ﬂ =L
23 2

3 tam”
4 tan ll —ltan Iy +—£

z 3 3
Let fand g be twice differentiable functions on B such that
£ =g ) x
fr)=4g'(1)-3=29
FO=@=12

Then which of the fallowing ia NOT trmea?

. where m and n are odd numbers, then the ordered pair (I, n) 13

Question Type

Quesfion ID
Gption 1 10
Option 2 10
Option 3 10
Option 4 1D

Stetus
Chosen Opiion

moQ
366604347
3666941057
3606941058
3666041056
3666941055

Not Attempled and Marked For
Review

Quizstion Type : MCQ
Guestion |D - 366694350
Option 110 - 3666841070
Cption 2 1D - 3666941069
Cption 3 1D - 3666541068
Ciption 4 1D - 3666941067

Status : Answered

Chosen Option : 4

Queslion Type . MCQ
Question 1D - 366694341
Cption 110 : 3666941032
Cption 2 1D . 3606941034
Oiprion 3 1D 3666241031
Cption 4 1D : 3666941033

Gtatus : Answered

Chosen Option

Qiestion Type :

Queslion 1D
Option 1 10
Gption 2 10
Option 3 1D
Option 4 10

Status

Chosen Opfion -

Cuestion Type :
CQuesfion 1D -

Option 1 10
Option 2 10
Optien 3 1D
Cption 4 1D

Stetus

Chozen Option

Question Type :

Question 1D
Gption 1 18
Crption 2 10
Cption 3 |0
Dption 4 1D

Status

Chosen Opiion -

Dwestion Type |

GQuestion ID
Cption 1 |10
Option 2 10
Optien 3 1D
Cption 4 1D

Status
Chozen Option

=

MCQ
360694333
3666041001
3666941000
3606941002
366694994

Not Attempted and Marked For
Review

MCQ
366694334
606941004
366041003
3666041006
J6G6941 005

Not Attempted and Marked Far
Review

MCQ
366694343
3666041041
3666941042
3666941039
3666041040

Not Attempted and Marked For
Raview

MCQ
J6G694337
3666541018
3666041017
3666941015
J606941 016

Not Attempted and Marked For
Review

Cwaction Typa : MCQ
Question ID - 366654336
Cption 110 3666941013
Cphion 2 10 - 3666841014
Option 31"~ 2=2&04anas
Cption 4

Stal

Chesen Opti
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Options

GL.6Y9

Options

a.m

Options

an

Options.

Options

Q.73

Options

QT4

Options.

Options

Options

1If-l1<x<2 then|f(x)—g(x) <8

2| ) —-g'x)|=6=2-1<x<l

> g=2-F-2)=20

4 There exists 1y € (1,3/2) such that /(xg) = g (xg)

Let B be arelation defined on ™ azs a R b if 2o+ 3b iz amultiple of 5. g, b€ M .

Then R is
1 transitive but not symmetric

2 an equivalenee relation

3 not reflexive
4 symmetric but not transitive

If the tangent at 2 point P on the parabola }2 = 3x iz parallel to the linex + 2y =1

and the tangents at the points Q and R on the cllipse ‘T+% =1 are perpendicular
to the line x —y = 2, then the arca of the trianglc PQR is :

3
1 =4f5

Vs
253
335

o

.3

5

Wa=i+2k b=i+j+h, é=Ti-3j+4k, Pxb+bxi=0and#.G=0.
Then 7 - € is cqual to

130

2 32

336

4 34

If the lines IT-} M oWt S intersect at the point F, then

2 1
the distance of the point P from the plane z =« is :
110
222
328
415

The value of the integral \[ M2 i equal to

S
b
1
2 mlog,2

1-log,2

T
3 5 log, 2

1
4 E]{}gEE

The plane 2x —y + z =4 intersects the line segment joining the pointz A (a, -2, 4)
and B (2, b, —3) at the point C in the ratio 2:1 and the distance of the point C from
the origin is /3. If ab < 0 and P is the point (a— b, b, 2b—a) then cPlis equal 1o
16

3
17

3
73
3
97
3
3
The area of the region A:{{'.\'.y):|cnw—sin.\' < ¥y =sin I'"E"Y'-C%} is
145-2241
3 4
2 [—m b
.

3 23 +1
N
4 52245
The letiers of the word OUGHT are written in all possible ways and these words are

arranged as in a dictionary, in a series. Then the serial number of the word TOUGH
is

179
2 86
3 84
4 #9

Question Type . MCQ
Cuestion [0 - 366694331
Cption 11D - 366694903
Cption 2 1D - 366694904
Cptlen 3 10 - 366654991
Cption 4 10 : 366694902

Gtatus - Answered

Chosen Option - 2

Diuestion Type
Question ID
Option 1 1D
Option 2 |0
Option 3 ID
Cption 4 1D

Status

Chosen Dption

Question Type
Quastion ID
Option 1 1D
Cption 2 10
Option 3 ID
Option 4 10

Status
Chosen Opiion

Ciuestion Type :
Cuesfion ID -
Option 1 I0-
Cption 2 10
Opten 3 10 :
Cptien 4 10 -

Ststus
Chosen Option

Mmco
366604342
666941035
3666541038
3666041036
666941037

Not Attempled and Marked For
Review

mMco
366604348
J6G6941062
3666541061
3666041059
3666941060

Not Attempted and Marked For
Review

mCQ
366604344
3666941043
3606941045
3666041046
3666941044

Not Attempted and Marked For
Review

Cuaction Type - MCQ
Question |D - 366604338
Coption 11D . 3666941019
Dptlon. 2 10 - 3666941022
Cption 3 |D : 3666041020
Crption 4 1D : 3666941021

Stalus . Answered

Chasen Option - 3

Question Type :
Queslion 10
Dption 1 1D
Option 2 1D
Cption 3 1D
Option 4 10

Status
Chosen Opfion :

Ouestion Type ©
GQuastion 1D :
Option 1 10 -
Dption 2 10
Option 3 1D
Option 4 1D

Slatus
Chosen Opfion

MCQ
3606945345
3666041047
3666941040
3006541049
3666041050

Mot Attempted and Marked For
Raview

McQ
366604330
3666941025
3666941026
3666041023
666541024

Not Attempied and Marked For
Review

Quastion Type - MLQ
Cuiection |D - 366604335
Cpfion 1 1D : 3666541008
Cplion 2 10 . 3666941010
Cption 3 1D 2 3666841000
Coption 4

Stal

Chasen Opti
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QI Let 4 4!+3} and B= 31_4} 55 It 2 - is a vector such that Question Type . MCQ
Question |0 - 366694346
c | axb |+25 =0, ¢-(i+] + k)=4, and projectionof [ on  isl, thenthe Option 1 |0 - 3666041051
Crplicn 2 10 © 3666941053
projectionof [ on F equals Option 3 10 3666941052
Options 5 Opfion 4 1D - 3666041054
1. —= Statuc - Not Attempted and Marked For
JE " Review
1 Chosen Opfion - —
2=
5
1
3=
2
3
g
2
Q.78 The set of all valnes of i for which the equation Question Type | MCQ
i 9 - . .
cas? 2x — 2 sin? x — 2 coe? ¥ = has a real solution x, 18 Queslion |0 . 360634343
Oiption 1 10 - 3666041063
Options
1 ’V L- —-‘ Cptien 2 10 - 3666041065
: Cplion 3 10 . 3666941006
22 ,J Opion 410 3666941064
L2 _ Mot Attempted and Marked For
I 30 Status - poving
3 _I“T Choszen Optien - —
4 [-2.-1]
Q.7 The sct of all values of t € R, for which the matrix Question Typa - MCQ
— i — " | T
¢ e'(sint—2cost) e'(—2sint—cost)] Siclior 1> 300 £33
' o[t oy - i . Option 110 . 366684995
€ (25111 1 teos T] = (Sll'l t—2cos t} is invertible, is Option 2 10 - 366604007
a el & %int Option 3 |0~ 366694996
Opti = Cption 4 10 . 360694998
ONS
s _ Not Attempted and Marked For
1 { 2k+1] Iu—u} SN Review
2 R Chozen Option - —
“
3dhkmt— }
iy
nkeZ}
L s ¥ =1 1{x) be the solution of the differential equation riog, » dy Sor=al *log, x, [£-1)- Cuizstion Typa - MCQ
Question |D - 366694340
Ify (2) = 2. theny (e) is equal to Cition 110 . 3666941050
Options T gl Ophion 2 10 - 3666941029
1 Cption 3 1D - 3666941023
2 Cption 41D . 3606941027
1+ & Status - Answered
2 Cheosen Option: 2
2
2
3 I+e*
4
LA
4

Section : Mathemafics Section B

Q.81 The total number of 4-digit numbers whose greatest common divisor with 54 is 2, Question Typa : SA
is ; Qussiion |T - 366694354
e Anmene i g:: ;'v:emmea and Marked Far
.82 : x—a st : :
If the equation of the normal to the curve ¥=—————— atthe point (1,— 3} 1s Question Type ° 5A
(x+5) (x-12) Quastion ID : 366604357

Status © Answered
x—4y =13, then the valuc of o +b is cqual to

Given Answes -1

Q.83 Let X¥={11,12,13, ..., 40, 41} and V= {61, 62, 63, ..., 90, 91} be the two sets of Question Typa © SA
observations. If ¥ and ¥ arc their respective means and 7 is the variance of all Quesfion |0 - J6G694360
s Not Attempred and Marked For
the observations in X U Y, then | T+y-a SEWS . peview
Given Answer .-
Q24 A trumgle is formed by the tangents at the peint (2. 2) on the curves 1+ = 2x and Question Type : SA
s G NS G ; b Queslion |0 366694359
J_c v* =4y, and the line x + 3+ 2 = 0. If r is the radius of its circumeircle, then 7 oty Not Atempied and Warked For
tsequalte . : Review
Given Answer .-
B Let ;. 0. ..... 07 be the roots of the equation x7 + 3x° —13x° — 15x =0 and Question Type : SA
I = Queslion ID . 366694351
= b = 1 — +
oy = luy[=.. = |y, Then vy up — o3 wy + us ug s cqual to cors,Not Attempted and Marked For
Civen Answer - Review
Q.86 [2 1 - s
5 - ¥ 2 Cestion Type © SA
Let A be a symmetric matrix such that |A| =2 and 5 __1_—‘ A _Ll ﬁJ' e = eSS
LAl

Not Attempted and Marked For

5
SEWS - Review

If the sum of the diagonal elements of A is 5, then % is equal o

Gven Ansver - collegedunias
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by UIIESTIDN 1YDE | »A

Letay=by=landa,=a, 1 T(n—10 b=l a1 W22 1 5= o Question ID - 366604356
=1 Siatye - NotAttempted and Marked For
3 - Roview
= g ot 705 i
and T Z ST then 27 (25 —T) is equal to
n=1
Given Answer . -
Q.80 A circle with centre (2, 3) and radius 4 intersects the line x + =3 at the points P Quection Type © SA
and (J. If the tangents at P and (J mterseet at the point S (e, B), then 4a— 7P 15 Question |0 - 366694358
ual to ; . Not Attempted and Marked For
= S Review
Given Answer .
Q.68 Let {az} and {52}, k € M, be two G.P.s with common ratios ry and 17 respectively Question Type : SA

13

Question ID - 366694355

Not Attempled and Marked For
Review

suchthata; =b; =4andr; <1, Letcz=a;+ by k€N . Ife;=5and €,

= Status
then ¥ ¢, (124, +84y) is equal to
k=1

Given Angwer :
n.en S l Question Type  SA
Leta=8—141, A=12€Cim————=1rand B={zecC |z +3i| =4} Quesiion |0 - 366604352
e .‘} —112i J Status Not Attempted and Marked For
Raview

Then ;—n“{e:“ Im 2} 5 equal to

Given Answer . —
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